+ T 7 ) =

(—xY )
A FEAERT X L D
(+45) V= 0.87 X 12.00 = 10.44 m3 10.
R FEAEWr X LV
(=) V= 0.45 X 12.00 = 5.40 m3 5.
HEL FEAEWT [ L 0
V= 0.00 X 12.00 = 0.00 m3 0.
%+ FEAERT X L D
V=" 0.00 X 12.00 = 0.00 m3 0.
B T FEAEWr X LV
(&E+) A= 0.00 X 12.00 = 0.00 m2 0.
PREIIR B ARG ezl vV = 10. 44
R vV = 5. 40
= 15.84 m3 15.
%A PR R %+ = 0. 00
HEL vV = 0. 00
= 0.00 m3 0.
S Uil (+t + to5) — ( Bt + HE ) /0.9
V= 15.84 + 52,0 — 0.00 /0.9 = 67.84 m3 67.




# FE I & B & (—5% 1)
T
A=A EX LY
A= 11.700 X 2.400 = 28.08 | m2
Yy = 28.08 m’ 28.
ARUAEEE BB (LR - )1 - AR O KO
BEGE (SMMETABIER) L0 IRHT 0y 2 ERckT 5
JAIACoE:1. 8m3/10m2D 7=
A=y 27—k V= 0.18 X  28.08 = 5.05 m® 5.
(18-8-25BB)
SUEWTIE X LV /N IRy A R <
BARS V= 0.73 X  11.70 = 8.54 m?® 8.
(RC-40)
JERET JEBRIX XY
L= 11.70 = 11.70  m 11.
K 1 EX LY
L= 11.70 = 11.70  m 11.
N A X LY
N=  1.00 = .00 1.
40T JEBRIX XY
(A A= ( 0.500 + 1.700 ) X 1/2 X
2. 400 = 2.64 m’ 2.
JINESE T A= 28.08 = 28.08 m’ 28.
¥ ar s U—b7 a2 IconT, FEEEEBHRE D IRFER AN ET
9Tmsy D/ NEW &5 BT 5,




(10m¥%4 »)
230
#BED 42U — | (18--5-40BE)
400
£ PR it =1 ZX IVARE~'S 5
a7 U—k ¥ 0. 087 X 10. 000
(18-5-40BB)
0.870 m°®

0. 87




PS ﬁ% T (10m*%4 )

h40
/ / 200
£ PR H H ZX IVARE~'S
27—k V= ( 0.540 + 0.200 ) X 0.100 = 2
(18-8-25BB) X 10.000 = 0.370  m°® 0.37
T p A= 0.100 X 10.000 = 1.000 = m? 1. 00
H ks A= ( 0.540 + 0.200 ) X 0.100 = 2 = 0.037 | m?® 0.04

(IR VAR, t =10mm)




(1% 9)
1=
§
£ PR g H ZX VARG i1
27—k | V= (( 0.540 4+ 0.570 ) = 2.000 X 0.100
(18-8-40BB) + ( 0.570 4+ 0.800 ) = 2.000 X 2.300
) X 0.300 = 0.489  m°® 0.49
T A= ( 0.540 + 0.570 ) = 2.000 x 0.100 X 2.000
+ ( 0.570 + 0.800 ) =+ 2.000 x 2.300 X 2.000
+ 0.300 X 2. 400 X 1.044
+ 0.300 X 0. 100 = 4,044 @ m?® 4,04
AFE1:0.3  BlEEsqrt (1+40.372) =1.044
R¥L A= 0.800 X 0.300 = 0.240  m? 0.24




KR ) o) ' T (10m24 1)

Rika 20—+ (18-8-15E8)

£ PR = H ZX IVARE~'S i1
M A= 10. 000 = 10. 000 | m? 10. 00
(#225¢m)
A= 27)—F V= 10.000 X 0. 250 X 0. 333 = 0.833 | m?® 0. 83

(18-8-25BB) X¥E25em




BmEY M EL

i H B

(—xH )

FEEY U L T

a7 Y—hk Ximd v

HEEpgEL v= (1.70 + 0.50 ) X 1/2 X 2.51 2.76  m° 2.8
€.i3:)

T LR T
I REEYEEE L L0

(Efparsy—1) | V= 2.76 2.76  m° 2.8
RISy I 2V

(Efparsy—1) | V= 2.76 2.76  m® 2.8




R & I 3 H &£ (—#2% 1)

THEMHEKT N= = =Y
KA+ 9 T
GRIfE, %@, #W&) N= = A
P HALER T
V:
= m3
H kR
A: — mz
N= - *ﬁ
W: — t
B
KA+ 5 4%) W= = ke
N= - 1=
BE 7T JLsy
(KB 0> 5 4%) W= = ke
KEET. N=  1.00 = 1.00 =
fEIPEAK T

N= 1. 00 = .00 =X




